&7 Tool Belt ,

How to Build a Custom Grand Island Console Table

 Tool el

This plan is customizable, so the materials list will change according to the desired dimension of your
console table. This example material list is what I used for the console table being 68" long and 11

1/4" deep.

Material

e 4-31/2" Grand Island Legs from Osborne Wood Products in Knotty Pine

e 2-1"x12"x6'boards (actual 3/4" x 111/4")

e 1-1"x10"x6"board (actual 3/4" x9 1/4")

e 2-1"x4"x8"boards (actual 3/4" x 3 1/2-3 1/4") I usually buy extra 1x4's to rip into 2 and make
1x2's. The selection of 1x2's at my store is usually poor, plus is saves money.

e 5-1"x2"x8"boards (actual 3/4" x 1 1/2") (see note above)

e 1sheet 5 mm (about 1/4") underlayment plywood

e 11/4" pocket hole screws
e 11/4" brad nails

e 3/4" brad nails

e wood glue

e sandpaper

e wood filler

o paint — (Chocolate Tart, Fresh Mustard and Belt Buckle metallic cream)

e top coat (optional)
e 6 -drawer knobs*


https://www.osbornewood.com/1428.aspx
http://www.homedepot.com/p/Underlayment-Common-7-32-in-x-4-ft-x-8-ft-Actual-0-196-in-x-48-in-x-96-in-431178/203183010
http://www.countrychicpaint.com/collections/furniture-paint/products/all-in-one-decor-paint?variant=7614909957
http://www.countrychicpaint.com/collections/furniture-paint/products/all-in-one-decor-paint?variant=7614968325
http://www.countrychicpaint.com/collections/specialty-products/products/metallic-cream?variant=7090103301
http://amzn.to/1KIaRDQ
http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-console-table-example-dim.jpg

Cut List

§7/Tool Belt |,

To customize the dimensions of the console table, download the spreadsheet and change the green

fields (overall length, height depth and number of drawer fronts). The spreadsheet will automatically

change the cut list numbers accordingly. Cut list speadsheet: Grand Island Leg custom Console

Table See step 3 for rail and slat options.

Console Table

Fill in green boxes with your measurements

Overall Length 68 inches

Overall Height 32 1/a inches

Overall Depth 11 1/4 inches

Drawer Fronts 6 (even numbers)

Cut List
Quantity Component Thickness (inches)  Width (Inches) Length (inches)

4 3 12 3 1/2 31 1/2
1 3/a 11 1/4 68
1 3/a 11 1/4 60
2 3/4 11 1/4 3 1/2
2 3/a 1 1/2 60
2 3/a 1 3f2 3 1/2
18 3/a 3 3/8 9 1/4
6 3/4 3 7/8 18 1/2
1 1/4 11 1/4 60
1 1/4 9 1/4 65
3 B 3/4 1 1/2 60
2 M 3/4 1 1/2 3 12

(max height 35 1/4", min height 31 1/4")

Note
Legs 3 1/2" Grand island Leg
Top
Front
Top Sides
Bottom Rail
Bottom Sides
Slats 8 1/2  If using pocket holes
Drawer Fronts
Back
Bottom
supports
side supports



http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-custom-Console-Table.xlsx
http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-custom-Console-Table.xlsx
http://www.hertoolbelt.com/wp-content/uploads/2016/01/cut-list-68-inch.jpg

Example cut diagram (for 68" table).

AR"
0O

11 1/4"

l

31/2"

T 80" >3 1/2"
11 1/4°

A " " "
3 7{3" - 18 1/2 18 1/2 181/2 >

A
3 7'{8"

§#Tool Belt

3 st |~—9 1/4"——|-9 1/4"—~1<—9 1/4"—-1«9 1/4"——|~—9 1/4"——l-—9 1/4"—»1-—9 1/4"»|-—9 1/4"——|~—9 1/4"—»1-—9 1/4"——1 I

]

3 Qs" |~—9 1/4"——|«9 1/4"——-]~—9 1/4"—-}«9 1/4"—+—9 1/4"—’|‘—9 kil
a0

312" 312"
i_F I T ]
1 1/?."l - £ 371{2" - > e—al—3 1/2"
¥ 1 ]
1 1/2"I = 60" -
L I | |
1 1/2'1 [ 60 >
LI B 1 ]
1127 & =
? | | |
N f ool Belt
65"
914" /— bottom
0"
11 1/4" pe

A Tool Belt



http://www.hertoolbelt.com/wp-content/uploads/2016/01/Cut-diagram-1.jpg
http://www.hertoolbelt.com/wp-content/uploads/2016/01/cut-diagram-2.jpg

§#/Tool Belt |,

Step 1

Cut the legs to length. Measure from the top of the legs down, mark and cut the leg to component A
length.

f\ Tool Belt

A Grand Island Leg 3 1/2"

3 1/2"
3'1/2"

Cut leg to Component A length (31 1/2")
Make sure to make the cut on the bottom.

Take 2 of the component G slats and mark the following measurements, then cut out (jig saw) to
notch for the legs.

- Component G length (9 1/4") ™

27/8" -

le

27/8"

(if using pocket holes to attach
the slats on the rail, change the
27/8"to 2 1/2")

(if using pocket holes to attach
the slats on the rail, change the
27/8"to 2 1/2")

ﬁ Tool Belt


http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-leg-Console-Table-Leg-cut.jpg
http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-slat-ends.jpg

§7/Tool Belt .

Drill pocket holes for 3/4" material, 2 that will attach to the bottom sides and one near each
corner. Note: put it near the corner to make it easier to secure the screw when the legs are in place

Component G length (9 1/4")
|

27/8"-

(if using pocket holes to attach
the slats on the rail, change the ’ -
27/8" to 2 1/2") 21/2

|

1

ll (if using pocket holes to attach
21/2" the slats on the rail, change the
7 27/8"to 2 1/2")

f\ (ool Belt

‘— Pocket holes for 3/4" material

Use wood glue and 1 1/4" pocket hole screws to attach a bottom side to and end slat.

Attach with wood glue and-
1 1/4" pocket hole screws.

/i— Pocket holes
/

/

F Bottom Sides —\

G Slat Ends —

f\ Tool Belt


http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-slatends.jpg
http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-Slat-side-ends.jpg

&7 Tool Belt .

Drill pocket holes in the top side pieces. Drill a couple in the top to secure the top later. Drill about 4

down one side, and on the opposite side drill another 3-4 (this will be on the side that shows). When

the sides are being installed between the legs, there won't be enough room to put your drill. I filled
the outside pocket holes with filler and they don't show.

. /r Pocket holes to attach
A

the top later.

~ Riso drill 4 pocket holes on
the outside face of this side.

~— D Top Sides
i (inside face)

Pocket holes for -"T‘/
3/4" material

o A ool e

Top sides Width

On the legs mark in 1/4" from one side (top and bottom blocks). Mark 29" from the leg top for the

bottom side piece to attach. Use wood glue and 1 1/4" pocket hole screws to attach the top side and
bottom side to a leg.

D Top Sides —

Inset top side 1/4" —

G Slat End

Inset bottom side 1/4" -

— Use wood glue and 1 1/4" screws
to attach the top side to leg.

I Inset sides 1/4"

— Use wood glue and 1 1/4" screws
to attach the clat end to the leg.

A\ oo et ﬁ Tool Belt


http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-top-sides-1.jpg
http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-attach-sides-to-leg.jpg
http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-attach-side-1.jpg

Use wood glue and 1 1/4" screws to attach the sides to the other leg. Repeat for other leg set.

Use wood glue and 1 1/4"
screws to attach to leg.

Use wood glue and 1 1/4"
screws to attach to leg

Step 2

Cut the top, front and drawer front pieces. If you want a routed edge on these pieces, now is a good
time to route them.

Drill pocket holes for 3/4" material on the back of the front piece, about 4 holes on each end to attach
the legs and some up top.

€ Front Length (60") e

C Front (backside)

11 14"

Space out the drawer fronts onto the front piece. The drawer fronts will be 1 1/4" from each side of
the front piece and 1" gap between each drawer front. Use wood glue and 1 1/4" brad nails to secure
the drawer fronts in place. Then I flipped the front over and added 1 1/4" screws from the back for a

little extra security. If you know what knobs/pulls you plan on using, you can drill the holes for them
now, or wait until later.


http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-leg-assembly.jpg
http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-front.jpg

&7 Tool Belt

C Front Langth (80°)
114 1-’] oy 1154 I

e

t ¢

Ly /

" C Front p 1/4" between edges and drawer fronts, 1" between sets of drawer fronts,

/
Use wood glue snd 1 1/ brad rails to set drawers in place. ~
Tumn over and use 1 1/4" screws in the back to secure drawer fronts.

A oo e
Step 3

To attach the slats on the bottom, I decided to cut a rabbet (groove) in the rail for the slats to sit on,
then nail them in place. If you'd rather not cut a rabbet, leave the rails whole and you can attach the
slats with pocket holes/screws (see note on cut list for this option).

I cut the rabbet joint as shown on the table saw making 2 passes. Drill a pocket hole for 3/4" material
in each end of the rails.

E Bottom Rail length (60")

r—3/8"

Pocket hole for 3/4" material

Pocket hole for 3/4" material

On the legs mark in 1/4" from one side (top and bottom blocks). Mark 29" from the leg top for the rail
pieces to attach. Use wood glue and 1 1/4" screws to attach the front and front rail onto the front legs.


http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-front-with-drawers.jpg
http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-rail.jpg

Use wood glue and 1 1/4" screws to attach front to legs. —_—_

S Inset front 1/4" Tnset front 1/4" —

/— E Bottom Rall
/

R Use wood ghue and 1 1/4" screw to attach rail to leg, Inset rail 1/4" — &

§ Tool Belt

Drill pocket holes for 3/4" material on the ends of the component L supports. Mark 11 1/8" from the
leg top. Use wood glue and 1 1/4" screws to attach the L supports and back rail onto the legs.

L Supports length (60')

e
—

= Inset Bottom Rad 1/4" Attach with wood glue and 1 1/4" screws —

Place the top onto the table. The back of the top piece will be flush with the back of the legs and the
sides will overhang about 1/2". Use 1 1/4" pocket hole screws to attach the top onto the table.

Top flush with back legs

3/4"«1':



http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-attach-front-and-rail.jpg
http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-supports.jpg
http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-attach-top.jpg

4 Tool Belt ,,

On the back of the front piece and top sides, mark 1/4" from the bottom. Use 1 1/4" brad nails to

attach the L support and M side supports in place.

/
Attach with 1 1/4" brad nails —

Step 4

On the slats, I routed a very small round over on the edges. You can easily do this with a
sander. Apply wood glue to the rabbet and place the slats along the rail, spacing every 1/4". I cut a
scrap piece of wood 1/4" wide and used it as my spacer. Use 1 1/4" brad nails to secure the slats.

/TAtach with 1 1/4° brad nalls
/]

/ |
(- =G Slat width {3 1/8%)

A\ Taol Bel

Mark the bottom piece to notch for the legs. A jig saw is an easy way to make the notches. Secure the
bottom piece with 3/4"-1 1/4" brad nails.


http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-attach-support-for-bottom.jpg
http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-attach-slats.jpg

§ 7 Tool Belt .

r— Arach with brad nails

K Bottom length (65°)

Attach with brad nais

Attach with brad nals

f\ Tool Belt

Before attaching the back, you'll want to install the knobs/pulls (this may be after
painting/finish). Attach the back with 3/4"-1 1/4" brad nails.

Note: Attach drawer knobs before attaching back Use brad nails to attich back
D atl ick

Use brad nails to attach back



http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-bottom.jpg
http://www.hertoolbelt.com/wp-content/uploads/2016/01/Grand-Island-Leg-Console-Table-attach-back.jpg

